Complete the proof below. The premises are given; find the arguments that match the premises. Some of the arguments have been found for you. (The following diagram is not drawn to scale.)
	Statement: If one pair of opposite sides of a quadrilateral is parallel and congruent, then the quadrilateral is a parallelogram.
	                          D                                                                               C

A                                                                               B


Proof: 
	1. Connect BD, then we have triangle ABD and triangle BCD
	Construction

	2. BD is transversal to AD and BC
	 FORMDROPDOWN 


	3. Angle ADB and angle CBD are alternate interior angles of AD, BC, and BD
	 FORMDROPDOWN 


	4. AB // CD
	 FORMDROPDOWN 


	5. BD is transversal to AB and CD
	 FORMDROPDOWN 


	6. Angle CDB is congruent to angle ABD
	If 2 parallel lines are cut by a transversal, then the alternate interior angles are congruent

	7. In triangles ABD and ACD, AB is congruent to CD, and BD is in common
	 FORMDROPDOWN 


	8. Triangles ABD and BCD are congruent
	 FORMDROPDOWN 


	9. Angles ADB and CBD are congruent
	 FORMDROPDOWN 


	10. AD // BC
	If two lines are cut by a transversal and the alternate interior angles are congruent, then the two lines are parallel

	11. AB is congruent to CD
	 FORMDROPDOWN 


	12. ABCD is a parallelogram
	 FORMDROPDOWN 



** Upon completion, save this document under your name and email it to the teacher, or print it out to turn it in. **









